104

Alu Spacer Flange Nut M8
@20x8,5xh16 P/N 200298
P/N 202497

Muffler

Carbon Bracket
P/N 0815261501

P/N 3015239410

tbike's frame|

2x S.S. Washers
M8X16
P/N 200294

2x Allen Screws
Alu Spacer
"M8X20

'@22x8,5xN 11 P/N 200722
P/N 205090

Allen Screw

M8X40

P/N 200993

Es7) 92R - 02 0017

Short Spring kit |
P/N 303949001

S.S. Pipe 1438 S.S. Clamp @28]
P/N 3015262221 P/N 300028540

|

ART. 15262FB
BENELLI TNT TORNADO NAKED T 125/135
SLIP-ON LV-10 FULL BLACK - APPROVED



	DT-15262FB
	Vista del disegno1
	Vista del disegno2


